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CSIS 3222,  Fall 2005 ,  30 points                                                     Name___________________________________ 

Chapters 5 (after p. 135), 6 (not pp. 188-193), &                                                   Dr. Lyn Mathis  

Chapter 2 (Practices 2-4, Sorting & Restricting Data, Functions, and Joins) 

Part I:  MULTIPLE CHOICE.  Circle the letter of the one alternative that best completes the statement or answers the question. (16  points )
1)In an SQL query, which SQL keyword is used with GROUP BY to select groups meeting specified criteria? 

A)EXISTS   B)AND   C)IN   D)HAVING   E)WHERE 

2)In an SQL query, which SQL keyword is used to specify the names of tables to be joined? 

A)HAVING  B)JOIN  C)FROM  D)SELECT E)WHERE 

3)In an SQL query, which built-in function is used to compute the average value of numeric columns? 

A)MIN   B) AVG   C) MEAN   D) MAX   E) SUM 

4)In an SQL query, which SQL keyword is used to determine if a column value is equal to any one of a set of values? 

A)OR   B)EXISTS   C)HAVING   D)IN   E)AND 

5)In an SQL query, which SQL keyword is used to sort the result table by the values in one or more columns? 

A) WHERE 

B) SELECT 

C) SORT BY 

D) ORDER BY 

E )GROUP BY 

6)A referential integrity constraint policy that insures that foreign key values in a table are correctly maintained when there is a change to the primary key value in the parent table is called ________. 

A)controlled key adjustments 

B)cascading updates 

C)incremental deletes 

D)incremental updates 

E)cascading deletes 

7)When representing a one-to-many relationship in a relational database design ________. 

A)the child is always on the one side of the "one-to-many" relationship 

B)the parent is always on the one side of the "one-to-many" relationship 

C)either parent or child can be on the one side of the "one-to-many" relationship, and the choice is arbitrary 

D)either parent or child can be on the one side of the "one-to-many" relationship, and special criteria indicate which table should be on the one side. 

E)None of the above is correct. 

8)A referential integrity constraint policy that guarantees that a row in a parent table always has a required entry in a child table ________. 

A)is known as a minimum cardinality enforcement action 

B)needs to be documented by the database development team 

C)is enforced in most DBMS products 

D)is known as a minimum cardinality enforcement action and needs to be documented by the database development team 

E)is known as a minimum cardinality enforcement action, needs to be documented by the database development team and is enforced in most DBMS products 

9)In many-to-many relationships in a relational database design ________. 

A)the intersection table is ID-dependent on one of the parents 

B)the intersection table is ID-dependent on both of the parents 

C)the minimum cardinality from the intersection table to the parents is always M 

D)the intersection table is ID-dependent on one of the parents and the intersection table is ID-dependent on both of the parents 

E)the intersection table is ID-dependent on both of the parents and the minimum cardinality from the intersection table to the parents is always M 

10)In an SQL query, which SQL keyword must be used to remove duplicate rows from the result table? 

A)DISTINCT 

B)NOT EXISTS 

C)UNIQUE 

D)DELETE 

E)KEY 

11)To represent a multivalued attribute in an E-R model, ________. 

A)create a new weak, but not ID-dependent entity with a 1:1 relationship 

B)create a new strong entity with a 1:1 relationship 

C)create a new weak, but not ID-dependent entity with a 1:N relationship 

D)create a new ID-dependent entity with a 1:1 relationship 

E)create a new ID-dependent entity with a 1:N relationship 
12)In many-to-many relationships in a relational database design ________. 

A)the key of the child is placed as a foreign key into the parent 

B)the key of the parent is placed as a foreign key into the child 

C)the keys of both tables are placed in a third table 

D)the keys of both tables are joined into a composite key 

E)the keys of both tables are placed in a third table and the keys of both tables are joined into a composite key
13)To represent an association pattern in an E-R model, ________. 

A)create a new strong entity with a 1:1 relationship to one other entity 

B)create a new weak, but not ID-dependent entity with a 1:N relationship to one of two parent entities 

C)create a new weak, but not ID-dependent entity with a 1:1 relationship to one other entity 

D)create a new ID-dependent entity with a 1:1 relationship to one other entity 

E)create a new ID-dependent entity with  1:N relationships to the two parent entities 

14)Which of the following is not true about surrogate keys? 

A)They can be problematic when combining databases. 

B)The DBMS will not allow their values to be changed. 

C)They are identifiers that are supplied by the system, not the users. 

D)They are nonunique within a table. 
E)They have no meaning to the users. 

15)In a relational database design, all relationships are expressed by ________. 

A)creating a supertype 

B)creating a subtype 

C)creating a line between entities 

D)creating a foreign key 

E)creating a primary key 

16)When representing a 1:1 relationship in a relational database design ________. 

A)the key of each table must be placed as foreign keys into the other 

B)the intersection table gets the key from both relations 

C)the key of either table may be placed as a foreign key into the other 

D)the key of both tables must be the same 

E)both the key of either table may be placed as a foreign key into the other and the key of both tables must be the same 
 Part II: Data Modeling (5 points)
A clinic hires you to develop a database for a management information system. They begin their discussion of what they want by showing you the form and report that are shown on the following page. On this page, draw a data model (Erwin crow’s foot) to show the entities, identifiers, attributes, relationships, and cardinalities required to track the data necessary to develop the requested form and report. Specify business rules that explain your choices.
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 Part III: Design Implementation (5 points)
For the design of a Movie database that is shown below, draw the required tables with the tables labeled, with column headers, and with appropriate test data to illustrate the types of relationships indicated in the design. You may be creative here. For your solution, neither the actors, movies, or roles are required to exist in the real world.
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THEATER

TheaterName: char(50) NOT NULL

City: char(35) NOT NULL

State: char(2) NOT NULL

Address: char(35) NOT NULL

ZIP: char(10) NOT NULL

Phone: char(12) NOT NULL

MOVIE

MovieName: char(50) NOT NULL

Description: varchar(255) NOT NULL

SHOW_TIME

MovieName: char(50) NOT NULL (FK)

TheaterName: char(50) NOT NULL (FK)

City: char(35) NOT NULL (FK)

State: char(2) NOT NULL (FK)

DayOfWeek: char(10) NOT NULL

Date: datetime NOT NULL

ShowTime: datetime NOT NULL

AREA

AreaName: char(50) NOT NULL

AreaState: char(2) NOT NULL

DISTANCE

TheaterName: char(50) NOT NULL (FK)

City: char(35) NOT NULL (FK)

State: char(2) NOT NULL (FK)

AreaName: char(50) NOT NULL (FK)

AreaState: char(2) NOT NULL (FK)

DistanceToCenterOfArea: numeric(6,2) NOT NULL

MOVIE_CAST

ActorName: char(50) NOT NULL (FK)

MovieName: char(50) NOT NULL (FK)

Role: char(50) NOT NULL

ACTOR

ActorName: char(50) NOT NULL


Part IV: SQL (4 points)
If you like you may tear off the last pages that hold the tables needed to write appropriate SQL statements to solve the problems listed below.

1. Write a SQL statement to display SKU and Description for all products that have a QuantityOnHand equal to 0 or QuantityOnOrder equal to 0.

2. Write a SQL statement to display the SKU and Description of all items stored in the Seattle, Chicago, or New Jersey warehouse.  Use IN. 
3. Write a SQL statement to show the SKU and Description of all items stored in a warehouse managed by 'Smith'. 
4. Write a SQL expression to display the Warehouse and a count of QuantityOnHand, grouped by Warehouse.  Omit all items that have a count greater than 2.  Name the count TotalItemsOnHand and display the results in descending order of TotalItemsOnHand.

	INVENTORY

	SKU
	Description
	QuantityOnHand
	QuantityOnOrder
	Warehouse

	100100
	Std. Scuba Tank, Yellow 
	250
	0
	Atlanta 

	100100
	Std. Scuba Tank, Yellow 
	100
	50
	Chicago 

	100100
	Std. Scuba Tank, Yellow 
	100
	0
	New Jersey 

	100100
	Std. Scuba Tank, Yellow 
	200
	0
	Seattle 

	100200
	Std. Scuba Tank, Magenta 
	200
	30
	Atlanta 

	100200
	Std. Scuba Tank, Magenta 
	75
	75
	Chicago 

	100200
	Std. Scuba Tank, Magenta 
	100
	100
	New Jersey 

	100200
	Std. Scuba Tank, Magenta 
	250
	0
	Seattle 

	101100
	Dive Mask, Small Clear 
	0
	500
	Atlanta 

	101100
	Dive Mask, Small Clear 
	0
	500
	Chicago 

	101100
	Dive Mask, Small Clear 
	300
	200
	New Jersey 

	101100
	Dive Mask, Small Clear 
	450
	0
	Seattle 

	101200
	Dive Mask, Med Clear 
	100
	500
	Atlanta 

	101200
	Dive Mask, Med Clear 
	50
	500
	Chicago 

	101200
	Dive Mask, Med Clear 
	475
	0
	New Jersey 

	101200
	Dive Mask, Med Clear 
	250
	250
	Seattle 

	201000
	Half-dome Tent 
	2
	100
	Atlanta 

	201000
	Half-dome Tent 
	10
	250
	Chicago 

	201000
	Half-dome Tent 
	250
	0
	New Jersey 

	201000
	Half-dome Tent 
	0
	250
	Seattle 

	202000
	Half-dome Tent Footprint 
	10
	250
	Atlanta 

	202000
	Half-dome Tent Footprint 
	1
	250
	Chicago 

	202000
	Half-dome Tent Footprint 
	100
	0
	New Jersey 

	202000
	Half-dome Tent Footprint 
	0
	200
	Seattle 

	301000
	Light Fly Climbing Harness 
	300
	250
	Atlanta 

	301000
	Light Fly Climbing Harness 
	250
	250
	Chicago 

	301000
	Light Fly Climbing Harness 
	0
	250
	New Jersey 

	301000
	Light Fly Climbing Harness 
	0
	250
	Seattle 

	302000
	Locking carabiner 
	1000
	0
	Atlanta 

	302000
	Locking carabiner 
	1250
	0
	Chicago 

	302000
	Locking carabiner 
	500
	500
	New Jersey 

	302000
	Locking carabiner 
	0
	1000
	Seattle 


	WAREHOUSE

	Warehouse
	Manager
	SquareFeet

	Atlanta 
	Jones 
	125000

	Chicago 
	Smith 
	100000

	New Jersey 
	Evans 
	150000

	Seattle 
	Rogers 
	130000


